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QUESTION 1

Which two situations would cause dynamic ARP inspection to drop traffic? (Choose two.) 

A. if no IP-to-MAC address entry exists in the DHCP snooping database 

B. if the IP address in the ARP packet is deemed invalid 

C. if the requested MAC address exceeds the configured limit on the port 

D. if the ARP packet comes from a port that has been configured as trusted 

Correct Answer: AB 

 

QUESTION 2

When electing a DIS in an IS-IS network, what is used to break a priority tie? 

A. highest MAC address 

B. highest router ID 

C. lowest MAC address 

D. lowest router ID 

Correct Answer: A 

 

QUESTION 3

Which statement is true about IP-IP tunnels? 

A. The time-to-live value of the original packet is decremented. 

B. IP-IP tunnels are protocol agnostic. 

C. The packet is encapsulated unchanged before entering the tunnel. 

D. The packet header is replaced before entering the tunnel. 

Correct Answer: B 

 

QUESTION 4

Which two statements are true about an EX2300 device? (Choose two.) 

A. By default, trunk ports can carry untagged traffic. 

B. By default, all switch ports are trunk ports. 
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C. By default, all switch ports are access ports. 

D. By default, all switch ports are associated with the default VLAN. 

Correct Answer: CD 

 

QUESTION 5

Which two statements are true about high availability on Junos devices? (Choose two.) 

A. BFD is faster at detecting failures than default GRE or OSPF timers. 

B. BFD is slower at detecting failures than default GRE or OSPF timers. 

C. NSR is dependent on helper routers to assist the routing platform in restoring routing protocol information. 

D. NSR is independent on helper routers to assist the routing platform in restoring routing protocol information. 

Correct Answer: AD 
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